== A
N = 0] &F AF S & AN A
20158 = 20 AH LEHSIH L JIEISESH , Z2IESEESH SM/AM=SEX A
EN: SHAAMSEX A
Hu: M2 oW - Yoy
SRl BMSIM HYHAA (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
SAMAM=SE XA 970,004 931,461 38,543
ESRA =l S IR =l e | 277,964 277,421 543
SN2 MESHAA 277,964 277,421 543
EAMNSANMA A 132,130 114,097 18,033
101 e1214| 57,370 40,697 16,673
04 JIZtHI22XNEE S 57,370 40,697 16,673
OJIZtHZ22 X2 %= 57,370
-GS =& &MY BX 44,6802 x4H +300 53,616
-HY¥AH (AW EER) 53,616,000 *7% 3,754
201 Yet2 | 16,360 15,000 1,360
01 AP 2t 2| H| 1,960 600 1,360
OYXS (WA L) 300,000 23] 600
OE=EHANESEAN 83X HE 1,360
02 224 H| 14,400 14,400 0
OANAEZHI KXY 14,400
-S4 ZHpE 7,500
-2 24A HHSX(2FHA E) 3,000
- As &Y S 300,000 =13CH 3,900
202 044l 30,500 30,500 0
01 2L Y| 30,500 30,500 0]
OJIEAMsE S MOl oyl 500
OEF&H AU 30,000
207 I & 27,900 27,900 0
03 Al& o1 78| 27,900 27,900 0
S 13,000
~EEAMN MATQY 30,0002 * 12074 3,600
—-SEE=2HANAMNE 200,000 x5M E 1,000
- CEHAIFME S EHH| 5,000& 7 =150 5,250
—-Ex FUAAM 6,000& 17524 1,050
—SEHAIZ D O EBAIA
15,000& *14024 2,100
OXZSSEHZA 6,000
- NFSSEEAL M 5,000 80021 4,000
- MRS EAANE AS 4,0002 x500% 2,000
OO0l = H At 5,000 *1,5004 7,500
OAsetE A 5,000 x80A 400
OAIS T A M2 A 1,000
E RPN 48,090 50,090 A2,000
201 LBt Y| 3,440 3,440 0




2 SMAMESEX A
MM NS OFE - goipg
CHelr SMSYM HAHAA (el @2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 At 22l ] 3,440 3,440 0
Ooul=sl 1,440
-&gs 100,000& * 12 1,200
-AMNs 20,000& x12¥ 240
==l 2,000
- JISAYEUHAZAR2A 2,000,000& 2,000
202 044 900 900 0
01 24018l 900 900 0
OXN=mY YAy & 900
206 M = dl 1,500 1,500 0
01 & bl 1,500 1,500 0
OgAAL=EAHE 2¢) 300,000& *53] 1,500
207 AT OH ] 42,250 44,250 A 2,000
03 A& Y| 42,250 44,250 A 2,000
OJsdgY oZ 10,950
- EdEYEAC ol 2 800& *2,000H 1,600
-G 2E AE 20,000& x150AH 3,000
— NI Ui 2k A} 10,000 x 1504 1,500
-8 & 10,000& *200AH 2,000
- ANESEAMNS 2,100
& S 38 1,500
MEE S=228 10,0003 *5kgx12& 600
-ANEsE27¢Y 750
& s 38 25,000& *305 750
ONSESE sSHEY 10,800
—-B=24e 98t A ME 20,000& *160H 3,200
- 228 QLUIHEHA 10,000 x 1004 1,000
-EH88 ZYAM 20,000& x180A 3,600
—HACCP & &Y & At 2,000 *x1,50021 3,000
OAd-dAY AA WEHZA 18,500
- MHE S HH| 6,000& x6H x100& 3,600
- XAFAEZ2AUI} AALADE  5,000& x300H 1,500
-HXEY FEHIAL 400& *6, 0004 2,400
-Z2HE EXNEA AL2E
5,000& *4H x250H 5,000
-2HE EFHHA 1,000& *6,00021 6,000
OAEAF 2,000
- ANE AN 2,000,000& *x1Hl = 2,000
=242 Y 97,744 113,234 £ 15,490
201 et A H| 82,585 79,602 2,983
01 At 22l bl 3,600 3,600 0
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2 SMAMESEX A
MM NS OFE - goipg
CHelr SMSYM HAHAA (el @2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
03 SHYRZEHI 6,000 0
ool gsdl 50,000& x10H x12& 6,000
301 dEtE A= 9,159 1,527
B AISI=SERRILZA= 9,159 1,527
OAMNS=E2RRIABAZ 9,159
-=23 171,400& x2H 12 4,114
==l 130,000& »2H +12& 3,120
-S| 52,000 »2H 128 1,248
=1l 288,090& »2H 577
N L 100
HHSAAG (FSAAMES M) 692,040 38,000
ol 2 A 661,590 35,180
ol 2AH| 661,590 35,180
101 2124 d| 642,090 35,960
01 2 596,284 23,754
OgZH 381,423
RN 242,882
62 2,999,800& x1H x12& 35,998
3 2,472,900 x5 x12& 148,374
- 82 2,437,900 x2H x12& 58,510
-3 138,541
o2 4,812,200 x 1P x12& 57,747
A AL 3,366,400 2 x12& 80,794
o83z2s4 28,496
Oxh22< 55,771
- AN2HA2EFE 44,861
- S=ZAHA AlIZ2HS 10,910
(OFSRLE= 66,179
-IEE 8,880
bl < Xt 40,0003 9% x12& 4,320
A EH S 20,000& x19H x12& 4,560
-AEEHBExLE 7,424
DESW(1ZX) 464,000 x4 H 43| 7,424
- d 223 10,560
25E 0] &t 130,000& x1H ~12& 1,560
20 0] &t 110,000 x3H » 12& 3,960
154 0] & 80,0003 x1H ~12& 960
108 0l & 60,0003 x4H x12& 2,880
54 0] &b 50,0003 x2H +12& 1,200
-ROsdE 2,473,000 *40%* 12& 11,871




SUAYS RN
EE L ERIC I PTET PPN
el 2| )
SA - BB B () - MM - BES il 2
-FEg2efxE 5,880
EES 50,000 «9H «12& 5,400
=3 40,0002 *1H «12& 480
-Jl=32+% 240
8,92 20,000 «1H «12& 240
-Jl=382490183 20,0003 «1H «12& 240
-HRSRIFE 7,404
6= 3,000,000& *4 1%+ 122 »1H 1,476
= 2,657,000 x4 . 1%+ 128 »2H 2,615
A 3,366,000& *4 . 1%+ 122 »2H 3,313
-z 10,800
=9 Hd 150,000& x6H 122 10,800
- esd 2,880
o % 80,000 *3H 122 2,880
OF UG AHI 130,000& x11H 128 17,160
OgZE S Ottl 381,423,000 /128 x60%*23| 38,143
O¢IIE &Hl 381,423,000 /128 *86%/30* 10 9,112
02 JIEt & 2+ 45,806 33,600 12,206
O3SYA==2AM 45,806
—ANZ2 2R 9,806
-E&F YR 600,000& x5H x12& 36,000
204 Z 2 LAY 19,500 20,280 AT80
02 22 =4 19,500 20,280 A 780
OZ =N 19,500
-5= 250,000& x1H x12& 3,000
—6=, 8 A 155,000& »3H 122 5,580
-72 140,000& x5 128 8,400
-8= 105,000 »2H «12& 2,520
24l 30,450 27,630 2,820
=2y 30,450 27,630 2,820
201 L2l 7,350 7,840 A 490
01 At 22l 7,350 7,840 A 490
OJl2+8Hl 2,850
OJles gl 4,500
202 O4dl 13,000 13,000 0
01 S LHAYI 13,000 13,000 0
OJl20Hl 13,000
203 YR =&t 3,400 3,440 AN40
02 It =& 400 440 240
OFSE- PN P ESES.] 40,000& 10 400
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